
Rättelser till R. A. Adams: Calculus, A Complete Course
8:e upplagan

Huvudboken

Facit P4.7 Grafen som avses heter (b), inte (ii).

Facit 4.10.3 (sid A-47) · · ·+ (x−2)3

24
− . . .

Facit 4.10.19 (sid A-48) · · · − (x−1)4

4

Student Solutions Manual

P1.44 (sid 1) Skall st̊a: ”... that is, if x− 1 ≤ 0, or, equivalently, if x ≤ 1.”

P4.6 (sid 4) domain [2, 3) ∪ (3,∞), range (−∞, 0) ∪ [1,∞)

2.4.24 (sid 27) · · · = − 6
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2.8.18 (sid 32) f is decreasing on (−π/3 + 2nπ, π/3+ 2nπ)

2.8.20 (sid 32) ...on the intervals (−(2π/3) + 2nπ, (2π/3) + 2nπ)


